WA Volume: The Disk Method

¥ Find the volume of a solid of revolution using the disk method.
B Find the volume of a solid of revolution using the washer method.

Volume of a disk: 7R%w
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Volume by Revolution
(Disk Method)

Example 1 Determine the volume of the solid obtained by rotating the region bounded by y = x* —4x+5,

x =1, x =4, and the x-axis about the x-axis.

9
8

5
4
3k
2

1 3
0

Y

74

54
44

o — (S}

<&t Lp ea lﬂ

TFS'P\LC{X S? AV o) X
| (

y=x?-4x +5
X=1,x=4,
rotate
about the
X-QXIS



When rotating around a horizontal
axis, integrate with respect to x



Rotating around a vertical axis:
integrate with respect to y
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Volume by Revolution

b ; 2
(Washer Method) V= [[R] -[reof s

+
V= :rj'[ (outer —axis)® — Grnner -a.u's)’]d.\'

Example 2 Dectermine the volume of the solid obtained by rotating the portion of the region bounded by
y=Yxand y= % that lics in the first quadrant about the y-axis.




